A WEAKENED MARKUS-YAMABE CONDITION FOR PLANAR POLYNOMIAL DIFFERENTIAL SYSTEMS OF DEGREE (1, n)

JAUME LLIBRE¹ (D) AND CLAUDIA VALLS²

¹Departament de Matemàtiques, Universitat Autònoma de Barcelona, Barcelona, Catalonia, Spain (jllibre@mat.uab.cat)

(Received 9 May 2023)

Abstract For a general autonomous planar polynomial differential system, it is difficult to find conditions that are easy to verify and which guarantee global asymptotic stability, weakening the Markus–Yamabe condition. In this paper, we provide three conditions that guarantee the global asymptotic stability for polynomial differential systems of the form $x' = f_1(x,y)$, $y' = f_2(x,y)$, where f_1 has degree one, f_2 has degree $n \ge 1$ and has degree one in the variable y. As a consequence, we provide sufficient conditions, weaker than the Markus–Yamabe conditions that guarantee the global asymptotic stability for any generalized Liénard polynomial differential system of the form x' = y, $y' = g_1(x) + yg_2(x)$ with g_1 and g_2 polynomials of degrees n and m, respectively.

Keywords: global asymptotic stability; Markus–Yamabe conjecture; planar polynomial vector fields 2010 Mathematics subject classification: Primary 34C05

1. Introduction and statement of the main results

Since the time of Liapunov, it has become evident that finding conditions that guarantee global asymptotic stability of an equilibrium point in a differential system, even in two dimensions, is a difficult problem. Liapunov's approach is probably the most widespread general method used, though constructing a Liapunov function usually requires ingenuity, experience and some luck. For the two-dimensional autonomous system

$$x' = f_1(x, y), y' = f_2(x, y),$$
 (1)

with $f = (f_1, f_2) \colon \mathbb{R}^2 \to \mathbb{R}^2$, we seek for a set of easily verifiable conditions on the function f which can give global asymptotic stability. A result to this end was proven in

© The Author(s), 2023. Published by Cambridge University Press on Behalf of The Edinburgh Mathematical Society. This is an Open Access article, distributed under the terms of the Creative Commons Attribution licence (https://creativecommons.org/licenses/by/4.0/), which permits unrestricted re-use, distribution, and reproduction in any medium, provided the original work is properly cited.

1110



²Departamento de Matemática, Instituto Superior Técnico, Universidade de Lisboa, Lisboa, Portugal (cvalls@math.ist.utl.pt)

1993, the so-called Markus-Yamabe conjecture in two dimensions (see [8, 10, 11]). This result shows that the global asymptotic stability is obtained if the eigenvalues of the Jacobian matrix Df(x,y) have negative real part for all $(x,y) \in \mathbb{R}^2$. We remark that the Markus-Yamabe conjecture holds in the positive sense in \mathbb{R}^2 (see [8, 10, 11]), but it does not hold in \mathbb{R}^n with n > 2, see [1, 5].

The aim of this paper is to weaken the Markus–Yamabe condition and still obtain global asymptotic stability for some classes of differential systems (1). The Markus–Yamabe condition ensures the global asymptotic stability, provided that the differential system has a unique equilibrium point, the trace of Df is negative (TrDf < 0) and the determinant of Df is positive ($\det Df > 0$) for all $(x,y) \in \mathbb{R}^2$. The trace condition guarantees that each region of finite area shrinks under the flow, while the determinant has a priori no known geometric interpretation. Several results (see [2, 9, 12, 13]) weaken the Markus–Yamabe condition by replacing the determinant condition by other conditions. These new requirements on the equilibrium point seem unremovable because they are necessary for the global asymptotic stability and they are easy to verify. Therefore, guided by the results in [4] for polynomial differential systems of degrees 2 and 7 in the plane (we recall that the degree of a polynomial map f is n if the components of f are polynomials of degree at most n), we consider the following open problem.

Open problem. Assume that $f: \mathbb{R}^2 \to \mathbb{R}^2$ is a polynomial map of degree n and satisfies the following conditions:

- (c1) Tr (Df) < 0 for all $(x, y) \in \mathbb{R}^2$;
- (c2) The differential equation (1) has a unique equilibrium point $p \in \mathbb{R}^2$.
- (c3) The equilibrium point p is locally asymptotically stable.

Which is the largest family of planar differentiable systems (1) for which the assumptions (c1)-(c3) imply that p is globally asymptotically stable.

In view of [4], any planar differential system (x,y)' = f(x,y) with f being a polynomial map of degree two satisfying conditions (c1)–(c3) imply globally asymptotical stability. On the other hand, in view of [3], there are polynomial differential systems (x,y)' = f(x,y) of degree seven (i.e. f has degree seven) for which conditions (c1)–(c3) do not imply globally asymptotical stability. In this paper, we will consider the polynomial differential systems

$$x' = a_{1,0}x + a_{0,1}y, y' = \sum_{i=1}^{n} b_{j,0}x^{j} + y\sum_{i=0}^{m} b_{i,1}x^{i}, (2)$$

with $m, n \geq 1$.

The following is our main result.

Theorem 1. Every planar polynomial differential system (2) satisfying conditions (c1)-(c3) is globally asymptotically stable.

As a corollary, we obtain the following result.

Corollary 2. Any generalized Liénard polynomial differential system

$$x' = y,$$
 $y' = \sum_{j=1}^{n} b_{j,0} x^{j} + y \sum_{i=0}^{m} b_{i,1} x^{i},$

with n, m integers satisfying conditions (c1)-(c3) is globally asymptotically stable.

Theorem 1 is proven in § 2. By taking $a_{1,0}$ and $a_{0,1} = 1$, Corollary 2 follows.

2. Proof of Theorem 1

The case n = 1 is trivial, and the case n = 2 was proved in [4]. So in this paper, we consider the case n > 3.

The proof of Theorem 1 is divided into different cases. We first need Theorem 3 (see below) that provides the local phase portraits of semi-hyperbolic equilibrium points for planar polynomial differential equations. See for instance [7, Theorem 2.19] for a proof of Theorem 1.

Theorem 3. Let (0,0) be an isolated equilibrium point of the planar polynomial differential system

$$x' = F(x, y), \qquad y' = y + G(x, y),$$

with F and G being polynomials without constant and linear terms in the variables x and y. Let y = g(x) be the solution of y' = y + G(x,y) = 0 and assume that $F(x,g(x)) = a_m x^m + \cdots$, where $m \ge 2$ and $a_m \ne 0$. Then,

- (i) If m is odd and $a_m > 0$, then (0,0) is an unstable node.
- (ii) If m is odd and $a_m < 0$, then (0,0) is a saddle.
- (iii) If m is even, then (0,0) is a saddle node.

2.1. Case 1: $a_{0,1} = 0$

In this case, system (2) becomes

$$x' = a_{1,0}x = f_1(x,y),$$
 $y' = \sum_{j=1}^{n} b_{j,0}x^j + y\sum_{i=0}^{m} b_{i,1}x^i = f_2(x,y).$ (3)

The divergence of this system is

$$div = Tr Df = a_{1,0} + \sum_{i=0}^{m} b_{i,1} x^{i}.$$

Imposing the condition (c1), i.e., TrDf < 0 for all $(x,y) \in \mathbb{R}^2$, we must have that m is even and

$$a_{1,0} + b_{0,1} < 0,$$
 $a_{1,0} + \sum_{i=0}^{m} b_{i,1} x^{i} = b_{m,1} \prod_{i=1}^{m/2} ((x - \alpha_i)^2 + \beta_i^2),$ $b_{m,1} < 0,$

with $\alpha_i, \beta_i \in \mathbb{R}$ and $\beta_i \neq 0$. So, system (3) becomes

$$x' = a_{1,0}x, y' = (b_{0,1} - a_{1,0})y + \sum_{j=1}^{n} b_{j,0}x^{j} + yb_{m,1} \prod_{i=1}^{m/2} ((x - \alpha_{i})^{2} + \beta_{i}^{2}). (4)$$

Note that if $b_{0,1} - a_{1,0} + b_{m,1} \prod_{i=1}^{m/2} (\alpha_i^2 + \beta_i^2) = 0$, then the line x = 0 is filled by equilibria and so this is not possible. So $b_{0,1} - a_{1,0} + b_{m,1} \prod_{i=1}^{m/2} (\alpha_i^2 + \beta_i^2) \neq 0$ and (0,0) is the unique equilibrium point of system (4) yielding that condition (c2) is satisfied.

On the other hand, the matrix Df(0,0) has eigenvalues $a_{1,0}$ and $b_{0,1}-a_{1,0}+b_{m,1}\prod_{i=1}^{m/2}(\alpha_i^2+\beta_i^2)$. Imposing condition (c3) and taking into account that $b_{0,1}-a_{1,0}+b_{m,1}\prod_{i=1}^{m/2}(\alpha_i^2+\beta_i^2)\neq 0$, we must have $a_{1,0}<0$ and $b_{0,1}-a_{1,0}+b_{m,1}\prod_{i=1}^{m/2}(\alpha_i^2+\beta_i^2)<0$, in which case the origin is a stable node.

Now, we shall prove that the origin is globally asymptotically stable. Any solution of Equation (4) with initial condition (x_0, y_0) is given by (x(y), y(t)) with $x(t) = x_0 e^{a_{1,0}t}$ and y(t) can be computed, thanks to the variation of constant method, that is, setting

$$a(t) = b_{0,1} - a_{1,0} + b_{m,1} \prod_{i=1}^{m/2} ((x_0 e^{a_{1,0}t} - \alpha_i)^2 + \beta_i^2),$$

we get,

$$y(t) = y_0 e^{\int_{t_0}^t a(s) ds} + \sum_{i=0}^n b_{i,0} x_0^i \int_{t_0}^t e^{a_{1,0}i\tau} e^{\int_{\tau}^t a(s) ds} d\tau, \quad t \ge t_0.$$

Since $a_{1,0} < 0$ and $x_0 e^{a_{1,0}t} \to 0$ when $t \to +\infty$, there exists T > 0 such that for $t \ge T$, we get

$$a(t) < \frac{1}{2} \left(b_{0,1} - a_{1,0} + b_{m,1} \prod_{j=0}^{m/2} (\alpha_j^2 + \beta_j^2) \right) =: a^* < 0.$$

Then, for $t, \tau \geq T$, we have $0 \leq e^{\int_{\tau}^{t} a(s) ds} \leq e^{a^*(t-\tau)}$ and $e^{a_{1,0}i\tau} e^{\int_{\tau}^{t} a(s) ds} \leq e^{a_{1,0}i\tau + a^*(t-\tau)}$. Therefore, for $t, t_0 \geq T$ and $t \geq t_0$,

$$0 \le |y(t)| \le |y_0| e^{a^*(t-t_0)} + \sum_{i=0}^n \frac{|b_{i,0}x_0^i|}{|a_{1,0}i - a^*|} \left(e^{a_{1,0}it} - e^{a_{1,0}it_0 + a^*(t-t_0)} \right)$$

if $a^* \neq ia_{1,0}$ for any i = 0, 1, ..., n, and

$$0 \le |y(t)| \le |y_0| e^{a^*(t-t_0)} + |b_{i^*,0} x_0^{i^*}| (t-t_0) e^{a^*t}$$

$$+ \sum_{i=0, i \ne i^*}^{n} \frac{|b_{i,0} x_0^{i}|}{|a_{1,0} i - a^*|} \left(e^{a_{1,0} it} - e^{a_{1,0} it_0 + a^*(t-t_0)} \right)$$

if there exists $i^* \in \{0, 1, \dots, n\}$ such that $a^* = i^* a_{1,0}$.

In both cases using that $a_{1,0} < 0$ and $a^* < 0$, we get that any solution (x(t), y(t)) with initial condition (x_0, y_0) at time t_0 tends to the origin as $t \to +\infty$ and so the origin is globally asymptotically stable. The proof of the theorem is proved in this case.

2.2. Case 2: $a_{0,1} \neq 0$

In this case, introducing the change of variables:

$$X = x$$
, $Y = a_{1.0}x + a_{0.1}y$,

Equation (2) writes

$$X' = Y,$$
 $Y' = a_{1,0}Y + a_{0,1} \sum_{i=1}^{n} b_{i,0}X^{i} + (Y - a_{1,0}X) \sum_{i=0}^{m} b_{i,1}X^{i},$

which also writes

$$x' = y,$$
 $y' = a_{1,0}y + \sum_{i=1}^{p} \tilde{b}_{i,0}x^{i} + y\sum_{i=0}^{m} b_{i,1}x^{i},$ (5)

where in order to avoid cumbersome notation, we have renamed the variables (X, Y) again as (x, y) and the new parameters $\tilde{b}_{i,0} = a_{0,1}b_{i,0} - a_{1,0}b_{i-1,1}$ for $i = 1, \ldots, p$, where

$$p = \begin{cases} n, & \text{if } n \ge m+1 \text{ or } a_{1,0} = 0, \\ m+1, & \text{if } n \le m+1 \text{ and } a_{1,0} \ne 0. \end{cases}$$

Taking into account that

$$TrDf = a_{1,0} + \sum_{i=0}^{m} b_{i,1} x^{i}$$

and imposing condition (c1), i.e. TrDf < 0 for all $(x,y) \in \mathbb{R}^2$, we must have that m is even and

$$a_{1,0} + b_{0,1} < 0,$$
 $a_{1,0} + \sum_{i=0}^{m} b_{i,1} x^{i} = b_{m,1} \prod_{i=1}^{m/2} ((x - \alpha_i)^2 + \beta_i^2),$ $b_{m,1} < 0,$

Weakened markus-yamabe condition for planar polynomial differential systems 1115 with α_i , $\beta_i \in \mathbb{R}$ and $\beta_i \neq 0$. Hence, system (5) becomes

$$x' = y,$$

$$y' = \sum_{i=1}^{p} \tilde{b}_{i,0} x^{i} + y b_{m,1} \prod_{i=1}^{m/2} \left((x - \alpha_{i})^{2} + \beta_{i}^{2} \right)$$

$$= Ay + \sum_{i=1}^{p} \tilde{b}_{i,0} x^{i} + y \left(b_{m,1} \prod_{i=1}^{m/2} \left((x - \alpha_{i})^{2} + \beta_{i}^{2} \right) - A \right),$$
(6)

where $A = b_{m,1} \prod_{i=1}^{m/2} (\alpha_i^2 + \beta_i^2)$ and $b_{m,1} \prod_{i=1}^{m/2} ((x - \alpha_i)^2 + \beta_i^2) - A$ has no constant terms.

Case 2.1: p even

Note that if $\tilde{b}_{10} \neq 0$, then Equation (6) has always an equilibrium point besides the origin, taking into account that

$$y'|_{y=0} = x \sum_{i=0}^{p-1} \tilde{b}_{i+1,0} x^i,$$

with $\tilde{b}_{1,0}\tilde{b}_{p,0} \neq 0$ and p-1 being odd (equation $\sum_{i=0}^{p-1} \tilde{b}_{i+1,0}x^i = 0$ has always a real solution different from x=0). Therefore, in order that condition (c2) is fulfilled, we must have $\tilde{b}_{1,0}=0$. In this case, system (6) becomes

$$x' = y,$$
 $y' = Ay + \sum_{i=2}^{p} \tilde{b}_{i,0} x^{i} + y \left(b_{m,1} \prod_{i=1}^{m/2} \left((x - \alpha_{i})^{2} + \beta_{i}^{2} \right) - A \right).$ (7)

In this case, the origin is semi-hyperbolic, and in order to apply Theorem 3, we must write Equation (7) in canonical Jordan form. For doing this, we apply the change of variables X = x - Y/A, Y = y, and system (7) becomes

$$\begin{split} X' &= -\frac{1}{A} \left(\sum_{i=2}^{p} \tilde{b}_{i,0} \left(X + \frac{Y}{A} \right)^{i} + Y b_{m,1} \prod_{i=1}^{m/2} \left(\left(X + \frac{Y}{A} - \alpha_{i} \right)^{2} + \beta_{i}^{2} \right) \right), \\ Y' &= AY + \sum_{i=2}^{p} \tilde{b}_{i,0} \left(X + \frac{Y}{A} \right)^{i} + Y \left(b_{m,1} \prod_{i=1}^{m/2} \left(\left(X + \frac{Y}{A} - \alpha_{i} \right)^{2} + \beta_{i}^{2} \right) - A \right). \end{split}$$

Now, after rescaling by the time variable ds = A dt, and using Newton's binomial formula, we obtain the system in canonical normal form:

$$X' = -\sum_{i=2}^{p} \frac{\tilde{b}_{i,0}}{A^{2}} \sum_{j=0}^{i} {i \choose j} \frac{X^{j} Y^{i-j}}{A^{i-j}} - Y \left(\frac{b_{m,1}}{A^{2}} \prod_{i=1}^{m/2} \left(\left(X + \frac{Y}{A} - \alpha_{i} \right)^{2} + \beta_{i}^{2} \right) - \frac{1}{A} \right),$$

$$Y' = Y + \sum_{i=2}^{p} \frac{\tilde{b}_{i,0}}{A} \sum_{j=0}^{i} {i \choose j} \frac{X^{j} Y^{i-j}}{A^{i-j}} + \frac{Y}{A} \left(b_{m,1} \prod_{i=1}^{m/2} \left(\left(X + \frac{Y}{A} - \alpha_{i} \right)^{2} + \beta_{i}^{2} \right) - A \right),$$
(8)

where now the prime means derivative in the new time s (note that since A < 0, the original system in time t changes the direction of the orbits). Applying Theorem 3, we get that

$$Y = -\tilde{b}_{2,0}X^2/A + \cdots$$
 and then $F(X,Y) = -\tilde{b}_{2,0}X^2/A^2 + \cdots$,

implying that the origin (0,0) is a saddle-node, which is not possible. So in order that condition (c3) is fulfilled, we must have $\tilde{b}_{2,0} = 0$, but then system (7) would be of the form

$$x' = y,$$
 $y' = Ay + x^3 \sum_{i=0}^{p-3} \tilde{b}_{i+3,0} x^i + y \left(b_{m,1} \prod_{i=1}^{m/2} \left((x - \alpha_i)^2 + \beta_i^2 \right) - A \right),$

and the equation $\sum_{i=0}^{p-3} \tilde{b}_{i+3,0} x^i = 0$ has a real solution different from x = 0 unless $\tilde{b}_{3,0} = 0$, but then again applying Theorem 3, we get that

$$Y = -\tilde{b}_{4,0}X^{4}/A + \cdots$$
, and then $F(X,Y) = -\tilde{b}_{4,0}X^{4}/A^{2} + \cdots$,

implying that the origin (0,0) is a saddle-node, which is not possible. Proceeding inductively, we conclude that $\tilde{b}_{i,0} = 0$ for $i \ge 1$, and in this case, taking into account that p is even, we get that the origin is a saddle-node and condition (c3) is not satisfied. In short, in this case, no system satisfies conditions (c1)–(c3) and there is nothing to prove.

Case 2.2: p odd

Note that if $\tilde{b}_{10} \neq 0$, the matrix Df(0,0) has eigenvalues:

$$\lambda_{\pm} = \frac{1}{2} \left(A \pm \sqrt{A^2 + 4\tilde{b}_{1,0}} \right),$$

and imposing condition (c3), we must have $\tilde{b}_{1,0} < 0$, and since A < 0, the origin is a stable node if $A^2 + 4\tilde{b}_{1,0} \ge 0$ and a stable focus if $A^2 + 4\tilde{b}_{1,0} < 0$.

If $\tilde{b}_{1,0} = 0$, then we get system (7) and the origin is semi-hyperbolic. Proceeding as for Case 2.1, we get that if $\tilde{b}_{2,0} \neq 0$, then the origin is a saddle-node, which is not possible.

So, $\tilde{b}_{2,0}=0$. Now applying Theorem 3 to system (8), we get that $Y=-\tilde{b}_{3,0}X^3/A+\cdots$ and then $F(X,Y)=-\tilde{b}_{3,0}X^3/A^2+\cdots$, implying that, if $\tilde{b}_{3,0}\neq 0$, for the origin to be a node, we must have $\tilde{b}_{3,0}<0$. If $\tilde{b}_{3,0}=0$, then in order that condition (c3) is fulfilled, we must have $\tilde{b}_{4,0}=0$ and so on. In short, in order that condition (c3) if fulfilled for system (7), there must exists an odd integer $i^*\in\{1,\ldots,n\}$ for which $\tilde{b}_{i^*,0}<0$ and system (7) writes

$$x' = y,$$
 $y' = Ay + x^{i^*} \sum_{i=0}^{p-i^*} \tilde{b}_{i+i^*,0} x^i + y \left(b_{m,1} \prod_{i=1}^{m/2} \left((x - \alpha_i)^2 + \beta_i^2 \right) - A \right).$

Note that $p-i^*$ is even and that equation $\sum_{i=0}^{p-i^*} \tilde{b}_{i+i^*,0} x^i = 0$ cannot have a real solution (otherwise condition (c2) is not satisfied). Taking this into account, we can write

$$\sum_{i=0}^{p-i^*} \tilde{b}_{i+i^*,0} x^i = \tilde{b}_{p,0} \prod_{k=1}^{(p-i^*)/2} (x^2 - 2\tilde{\alpha}_k x + (\tilde{\alpha}_k^2 + \tilde{\beta}_k^2)), \quad \text{for some } \tilde{\alpha}_k, \tilde{\beta}_k \in \mathbb{R} \text{ with } \tilde{\beta}_k \neq 0.$$

In this case, the origin of system (6) is the unique equilibrium point of system (6) and taking $\tilde{b}_{i^*,0} < 0$ and A < 0, all conditions (c1)–(c3) are satisfied. Note that

$$\tilde{b}_{i^*,0} = \tilde{b}_{p,0} \prod_{k=1}^{(p-i^*)/2} (\alpha_k^2 + \beta_k^2),$$

and since $\tilde{b}_{i^*,0} < 0$, this implies that $\tilde{b}_{p,0} < 0$.

We recall that p is odd, m is even and $b_{p,0} < 0$. A study (see [6]) of such system in a neighbourhood of the origin on the Poincaré sphere forms the backbone of the proof. In this case system, (6) is a generalized Liénard differential system with p odd, m even, p > m + 1 and $\tilde{b}_{p,0} < 0$. We can indeed make the rescaling

$$x=\alpha X, \quad y=\beta Y, \quad t=\gamma s, \quad \alpha=\left(\frac{b_{m,1}^2}{\tilde{b}_{p,0}}\right)^{1/(p-1-2m)}, \quad \gamma=-\frac{1}{b_{m,1}\alpha^m}, \quad \beta=\frac{\alpha}{\gamma},$$

and system (6) becomes

$$X' = Y, Y' = AY + X^{i^*} \sum_{i=0}^{p-i^*-1} \hat{b}_{i+i^*,0} X^i - X^p + Y \left(\hat{b}_{m,1} \prod_{i=1}^{m/2} \left((X - \hat{\alpha}_i)^2 + \hat{\beta}_i^2 \right) - A \right),$$
(9)

where $\hat{b}_{2i,1}$, $\hat{b}_{m,1}$, $\hat{\alpha}_i$ and $\hat{\beta}_i$ are the new parameters, and the coefficient of YX^m is -1. Note that now system (9) is a generalized Liénard differential system with p odd, m even, and the coefficient of X^p equal to -1. Using the differential system (3) of [6] with $\varepsilon = 1$, m odd and n even (in the notation of [6]), we get that the infinity of system (9) must be one of the following five infinities described in the phase portraits of Figure 5(3), Figure 6(1), Figure 7(3), Figure 8(6) and Figure 9(3).

From these previous figures, we get that either the infinity is a repeller (there are orbits which come from infinity, but there are no orbits going to infinity) in Figure 5(3), Figure 6(1) and Figure 7(3) or there are no orbits going or coming from infinity in Figure 8(6) and Figure 9(3).

Note that since the divergence of the system is negative (condition (c1)), thanks to Poincaré-Bendixson Theorem (see for instance [7, Theorem 7.10]), no periodic orbit exist and conditions (c1)–(c3) together with the behaviour at infinity previously described imply that the origin is globally asymptotically stable. This concludes the proof of Theorem 1.

Funding Statement. The first author is partially supported by the Agencia Estatal de Investigación grant no. PID2019-104658GB-I00, the H2020 European Research Council grant no. MSCA-RISE-2017-777911, AGAUR (Generalitat de Catalunya) grant no. 2022-SGR 00113, and the Acadèmia de Ciències i Arts de Barcelona. The second author is partially supported by FCT/Portugal through CAMGSD, IST-ID, projects UIDB/04459/2020 and UIDP/04459/2020.

Competing Interests. The authors have no competing interests.

References

- (1) J. Bernat and J. Llibre, Counterexample to Kalman and Markus-Yamabe conjectures in dimension larger than 3, *Dyn. Contin. Discrete Impuls. Systems* **2**(3) (1996), 337–379.
- (2) M. Chamberland, Global asymptotic stability, additive neural networks, and the Jacobian conjecture, Canad. Appl. Math. Q. 5 (1998), 331–339.
- (3) M. Chamberland, A. Cima, A. Gasull and F. Mañosas, Private communication. (2003).
- (4) M. Chamberland, J. Llibre and G. Świrszcz, Weakened Markus-Yamabe conditions for 2-dimensional global asymptotic stability, Nonlinear Anal. 59 (2004), 951–958.
- (5) A. Cima, A. van den Essen, A. Gasull, E. Hubbers and F. Mañosas, A polynomial counterexample to the Markus-Yamabe conjecture, Adv. Math. 131(2) (1997), 453–457.
- (6) F. Dumortier and C. Herssens, Polynomial Liénard equations near infinity, J. Differential Equations 153 (1999), 1–29.
- (7) F. Dumortier, J. Llibre and J. C. Artés, Qualitative Theory of Planar Differential Systems, UniversiText (Springer-Verlag, New York, 2006).
- (8) R. Fessler, A proof of the two-dimensional Markus-Yamabe stability conjecture and a generalization, *Ann. Polon. Math.* **62** (1995), 45–74.
- (9) A. Gasull, J. Llibre and J. Sotomayor, Global asymptotic stability for differential equations in the plane, *J. Differential Equations* **91** (1991), 327–335.
- (10) A. A. Glutsyuk, A complete solution of the Jacobian problem for vector fields on the plane, Russian Math. Surveys 49 (1994), 185–186.
- (11) C. Gutierrez, A solution of the bidimensional global asymptotic stability Jacobian conjecture, Ann. Inst. H. Poincaré C Anal. Non LinéAire 12 (1995), 627–671.
- (12) C. Olech, On the global stability of an autonomous system on the plane, *Contrib. Differential Equations* 1 (1963), 389–400.
- (13) M. Sabatini, Global asymptotic stability of critical points in the plane, *Rend. Semin. Mat. Univ. Politec. Torino* **48** (1990), 97–103.